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Q.1 For an AC circuit, calculate the average value of the current per cycle, for which time function of the 

current is shown in the figure. 

 

(A)
I0

2
 (B)

I0

 2
 (C)

2I0

3
 (D)

3I0

4
 

 

Q.2 In a given 𝐀𝐂 circuit through a specific branch, the current varies as a function of time given as 

𝐢 =  
𝐢𝟎sin𝟐 𝛚𝐭,   𝟎 ≤ 𝛚𝐭 < 𝛑

𝐢𝟎sin 𝛚𝐭,    𝛑 ≤ 𝛚𝐭 < 𝟐𝛑
  

Calculate the average current per cycle of this𝐀𝐂. 
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Q.3 In an AC circuit, the current is given by the equation, 𝐢 = 𝟐 𝟏𝟑𝐬𝐢𝐧 𝟓𝟎𝛑𝐭  𝐀. Calculate the time taken 

to reach from zero (at 𝐭 = 𝟎) to its first maximum value. 

(A)5 ms (B)10 ms (C)15 ms (D)20 ms 

 

Q.4 If a direct current of 𝟑 𝐀 is superimposed on an alternating current𝐢 = 𝟒 𝟐𝐬𝐢𝐧𝛚𝐭 𝐀, flowing through 

a wire, what is the average value of current in one complete cycle? 

(A)5 A (B)4 2 A (C)3 A (D) 3 + 4 2  A 

 

Q.5 The variation in an alternating emf with time is shown below. Calculate the mean value per cycle of 

the given emf. 
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Q.6 The current decaying in a circuit has a function 𝐢 = 𝐈𝟎𝐞
−𝐭/𝛕 where 𝛕 is the time constant of the circuit. 

Find 𝐫𝐦𝐬 value of the current for the period𝐭 = 𝟎  𝐭𝐨  𝐭 = 𝛕. 
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Q.7 Find the 𝐫𝐦𝐬 value of the sawtooth voltage of peak value 𝐕𝟎 per cycle, for which the time function is 

shown in figure. 
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Q.8 Calculate the 𝐫𝐦𝐬 value of the 𝐞𝐦𝐟 for a cycle, whose time variation is shown in figure. 
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Q.9 Average heat produced per unit time during a cycle of 𝐀𝐂 is the same as produced by 𝐃𝐂with current 

𝐢 = 

(A)iavg  (B)irms  (C)iavg
2  (D)ipeak  

 

Q.10 A direct current of 𝟓 𝐀 and an alternating current of peak value 𝟓 𝐀 flows through resistances 𝟏 𝛀 

and 𝟐 𝛀 respectively. Find the ratio of heat produced in the two resistances in the same interval. 

(A)1 (B)2 (C)3 (D)0.5 

 

 

 

 

 

 

 

 

 

 

 

ANSWER KEY 

 

Q. 1 2 3 4 5 6 7 8 9 10 

Sol. (B) (C) (B) (A) (B) (C) (A) (B) (A) (B) 

 


